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5.4 Solving Quadratics
,
Part 1

GCF Factoring ,
Difference of Squares & Factoring

Trinomials

Standards :

A
.
SSE Ba

ARE 1.4
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�2� y = 2× XYO1
1 2Iffier .

Itta
:

Parent Function of Exponentials

y = ax

none Quadratics

Let's consider the equation y = x ? Create a graph & table of the

equation?*an÷ 3 9
- 2 4t.tt.net :=

i. i

Parent Function of Quadratics
y = ×2
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nerd Solving Quadratics

What does it mean tosolre Quadratics ?

Sfnlnyifgn
,

Quadratics means to find the.in#softhe Quadratic

Examples] Solve the Quadratics ( Graphically )

�1� y=×2 0y=x2 . 4 �3� y=x2 -8×+15
r ntv:*'t

xjntrcept :C0,9 x . intercepts :C-39,12,y x - intercepts :( 3,0340)

*Wingdings
Let's consider the graph of the equation of y=x2 . 8×+15

.

y=×2 -8×+15
tow do we find the x . intercepts of this n n

graph

algebraicallyends
.in#nYxfIYIiinstsobeEeaexmntY.2+tty=x2-8xt15s-

graph

.

y=O c- × . axis (System of equations)
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y :P -8×+15 Use substitution method to solve
.

y=O
rttsd

X -

8×+15=0
Solveforx .

1×-311×51=0
Use the zero product property to sdveforx .

x -31=0
×-4=0+3=+3 +5=5x=3⇒

he xtnteneptsar (3,0) and (5,0)
.

~
tEEYIEteeratttoorb.o1orbotha-oandb-H.Cmclusi@Onewaytoso1vequadraticsistoi1OsetquadratioequationequaltoO2Ofactorquadratic3OUsetenpndnotproperty.C

examples] Sdveforx .

CAKAO Solving Quadratics - Factoring Trinomials lsetequaltooj
- KY -

t.to

10×2+3×-18=0 -3.60 20×2+10×+16=024%0
( xtb)
K

-

31=0 ( xtzyx-181=0×+6--0or ×-3--0×+2=0or X+8=O
×= -6 ×=3 x= -2 ×= -8



This was created by Keenan Xavier Lee - 2015. See my website for more information, lee-apcalculus.weebly.com. 

CDSolve Quadratics - Difference of Squares ( seteqnaltoo )

30×2.49=0-1
.to

40×2-36=0×2+0×-49.0701×+611×-4=0
( ×+711×-71=0×+6--0wx-6=0×+7--0or x -7=0 X= - 6 or X=6

.

x= -7 or x÷7Cased
Solve Quadratics - GCF Factoring (setequaltoo )

50×2+4×0

 065×2+10*-0
x( x -114=0 5×1×+4=0
X=O or x -14=0 5x=O or × -12=0

×=0 or ×= - 4
.

XIO or X= -2
.

�7�4×2-16×0

802×2-14×+12=0
4×1×-41=0 21×2-7×+61=0

4x :O or X - 4=0 ZK- 111×-61=0
× :O or x=4 .

x - 1=0 or × -6=0
×=1 or x=6

.

[More Examples ]Sdve§r× .

1.2 1.2@2×2-5×+2=000×2
. 6×=g Setequalto .

(2×-111×-2)=0 -9¥

2×-4=0or ×

-2=0×2
. 6×-9=0 Sdvefrx .

+1¥ ×=2 1×-311×-3) =D

4=1 × -3=0 or × -3=0$ z ×=3
x= :
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110×2-3=-2×1203×2=-9×+2×+2×+9
,-= -

xttx -3=0 3x2t9×=O
KHIK.11=03×6+91=0×+3--0

or X - 1=0 3x=O or Xt 9=0

×=z x=1 .
×=O or ×= -9

1303×2=27-27=-273x¥o31×2-91=0

31×+3) ( x-3 ) :O
× -13=0 or × -3=0

x= -3 w × =3 .

WAYSHSOWE QUADRATICS

(Quadthnearaanstantj

:¥¥:
.EE#Fsetf:eIEIT*EnInwiIiEEsoIYo

,


